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QUESTION 1

Review the definition of the Calculate user-defined function. 

Then, review the invocation of this Calculate function in a FieldChange program: 

Which two corrections are required to allow these PeopleCode programs to be saved as syntactically correct programs
that produce valid results? (Choose two.) 

A. In the FieldChange program, move line 3 to become line 1 

B. In the function definition, delete the in and out modifiers on line 1 

C. Delete line 3 from the function definition. In the FieldChange program, add the following as line 5: andincr = 0; 

D. Replace line 4 in the FieldChange program with the following: 

Correct Answer: BD 

 

QUESTION 2

View the exhibits. 
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You just added a second page to the student component as shown in Exhibit 1. When you test the page as shown in
Exhibit 2, no tabs are displayed. What do you need to do to display the tabs? 

A. On the Internet tab of the Component Properties dialog box, select the Display Hyperlinks check box 

B. On the Internet tab of the Component Properties dialog box, select the Display Folder Tabs check box 

C. Enter the labels for the folder tab labels and on the Use tab of the Component Properties dialog box, select the
Include in Navigation check box 

D. On the Use tab of the Component Properties dialog box, select the Include in Navigation check box 

E. Enter the labels for the folder tab labels 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbh1/eng/pt/tapd/
task_SettingComponentProperties-0774bd.html 

 

QUESTION 3

View the exhibits. Based on this page layout and page order, select two true statements about this page definition. 
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A. The TS_EMP_REVIEW page is saved without error 

B. The TS_EMP_REVIEW page contains a parent/child design error 

C. The TS_EMP_REVIEW page is saved with a related field error 

D. The TS_EMP_REVIEW page is saved with a duplicate record field warning 

Correct Answer: A 

 

QUESTION 4

Which statement is correct about the following PeopleCode statement? 

A. RO_ROWSET is the superclass of the Rowset class 

B. Rowset is the superclass of the RO_ROWSET class 

C. RO_ROWSET is an instance of the Rowset class 
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D. Rowset is a subclass of the RO_ROWSET class 

E. RO_ROWSET is an application class in the Rowset application package 

Correct Answer: D 

 

QUESTION 5

This exhibit displays your test for the new Student Suggestions page, which has a design error. 

How should you fix this page? 

A. In the page definition, make Student ID a display control field 

B. In the record definition, make Student ID an alternate search key 

C. In the page definition, make Student ID display-only 

D. In the component definition, select the correct search record 

E. In the record definition, make Student ID the high-level key 

Correct Answer: C 
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